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SCRIPT sQL

create table CiberUsuario(

id_usuario number(4) primary key not null,
nombre_usuario varchar2(15),

correo usuario varchar2(30),

constraint pk

);

create table Restaurante(

id_rest number(4) primery key not null,
Nombre_rest varchar2(30),
Direccion_rest verchar2(15),

menu_rest varcchar2(20)

);
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create table Direcciones(

codigo_postal number(5),

Calle varchar2(15),

colonia varchar2(20),

exterior number(3),

interior number(3)

);

create table Menu(

id_menu number(4) primery kell not null,
nombre_menu varchar2(20),
costo_menu number(4)

);

create table precios(

id_Precios number(4) primery key not null,

costo number(4)

);



